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Follow Up

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb


1. Find out some interactions that exist

between plants and animals.

Watch Video Solution

2. Do you think is there any relationship

between insects and crop yielding? Why ?

Watch Video Solution

https://dl.doubtnut.com/l/_tNHhuiikYUnZ
https://dl.doubtnut.com/l/_GEIfkZULhwmd


3. What can we do to have birds in our

surroundings and different insects in fields?

Watch Video Solution

4. What is pollination?

Watch Video Solution

5. How does pollination benefit the plant and

the insect?

https://dl.doubtnut.com/l/_venqRcajiN5U
https://dl.doubtnut.com/l/_2irHunHrNKGZ
https://dl.doubtnut.com/l/_CpW0SgEeaxxs


Choose The Correct Answers

Watch Video Solution

1. Transfer of pollengrains from the anther to

the stigma of plants is called

A. Transformation

B. Pollination

C. Transpiration

D. None of these

https://dl.doubtnut.com/l/_CpW0SgEeaxxs
https://dl.doubtnut.com/l/_GoAa3sKhfqBB


Answer: B

Watch Video Solution

2. Pollination faceilitates

A. Fertilisation

B. Growth

C. Absorption of Nutrients

D. Formation of flowers

Answer: A

https://dl.doubtnut.com/l/_GoAa3sKhfqBB
https://dl.doubtnut.com/l/_Zw0llv2e6zlu


Watch Video Solution

3. Pollination is carried out by agents like

A. Insects

B. Water

C. Wind

D. All of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Zw0llv2e6zlu
https://dl.doubtnut.com/l/_YitgjiCFiVxk


4. Which organism is getting benefited by

pollination (through insects) ?

A. Plants

B. Insects

C. Both A & B

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_YitgjiCFiVxk
https://dl.doubtnut.com/l/_ywhHeHkiCVFt
https://dl.doubtnut.com/l/_hcBULBRDV0yM


5. Indiscriminate use of pesticides is a cause

for 

1) Killing of harmful insects 

2) Killing of useful insects 

3) Increase of crop yield 

4) Reduce of crop yield

A. 1 & 3

B. 2 & 4

C. 1, 2 & 3

D. 1, 2 & 4

https://dl.doubtnut.com/l/_hcBULBRDV0yM


Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_hcBULBRDV0yM

